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apter 3 Review Parallel & Perpendicular Lines  Block J Date

. Think of each Cch segment in the diagram as part of a line. Fill in the blank with parallel, skew, or perpendicular.
1. DEand CFare S Y44l

\ 24D, BE,and CF are pacelie| A £
3. Plane ABC and plane DEF are ) ¢ cLLLL,f .
4 BE and 4B are_pe (|4 i ar * =
Think of each segment in the d1agram as part of a line. There/___y be more than one right answer.
3/\ Name a line perpendicular to HD . DC of DR of HeE of erl

Name a plane parallel to_BCH AABEF A $ c
Name a line parallel to BC . E_Q—\ M’
E

Name a line skew to FG . — C(K" 6f DH of DC H

Complete the statement with correspondzng, alternate interior, alternate exterior, or consecutive interior.
9\ L4and /8 are__gAt.  int. angles.

| £2and /6 are o\t . Xt angles.
Zland /8 are _saitny -S51de int,  angles.
Z7and £2 are (\one /A angles.
Z4and /5 are 5 qvv —Side int. angles.
ZSandA are__gdf. Int. angles.

@ Given that mZ1=32°, find each measure. Tell which postulate or theorem you use.

a. ms2 3& CJYY‘CSdefM wity < | .
/}f’)’ b. mZ3 3)° \/e/ﬁml wlgl’l £l T 3 /i;
c. mZ4 1’48‘7 har paiy with <8 . _ 4 7% 3)° .

d. m«ss 37 ° verficad  woith <l £z

@Use properties of parallel lines to find the value of x.
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@ Prove the statement from the given information. Explain how you would show that k I l
{57/‘ a. Prove: I||m b. Prove: n]lo 3/"‘
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@ Complete the following proof by providing the reasons. 1
| Given: m/1=53°

‘ 7)"3 mZ2=127° )

Prove: j||k
Statements Reasons

L1=53° _
L :42=127° 1. G 1ven

\ hlate
2. mZ3+m42=180 2. \/(\(\,UU( pa(f Pagmtﬂ
3. m£3+127=180 3. st rechdn eropP-
~72T —@3% o

4. ms3=53 4. Subtrachbn prags
5. mB3=ma 5. S“%th‘lbﬂ pr:i;“f
6. L3=4 6. chef. ot oy

7. jllk

a

QWSPMW £ converse

Determine which rays are parallel. . ° /
a.ls ﬁparallelto SR ? Lai’é 1407 = 140

b.Is PO parallel to SO ? .
p el to Qno \’ qgoflul ><

/b//b

@)etermine which lines, if any must be parallel.
)
d

"~y ) A/ e
cl/d
e/ c

109°
*\ ot
Hb
A \(10x+9r
(Ix+ 1P

(jx-rl?(fg*f% X"g‘ €0
D& ~Furlr 2

v ‘DX”O 5(8{)
(3 =45 40 :&09 oxrd c”%ﬂ 9
"?0'5 (0 ”"}X ) .
Xe= )9 6X*’q - %_Z
,-fi, 50
55

XGID



¥
n G8 ., M~ %,,5
=3, 1" \3(/5 ') e S )o\a_m it
: Ahe Samié
{0, — (2, —4}
L]

X é@ Write an equation of the line that passes through the given point P and is parallel to the line with the given

. —mp————
€quation.
a. %(10, 3); y=x-12 b. R(-1,2), =-2-x—2
i oM J/ X bE [f 2
(m=)) 7 < m=1 m=3 Mem=3
-y, = m(x-X0)
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Decide whether PQand OR are perpendicular. @ Decide whether the lines are perpendicular
2 L E 3 Line/: 2x—3y=—4 Line k: 3x+2y=3
4 a m= = 3-8 2x A ~4x “Ix
qnn A=t Ay=xr2
@ A0, 3 =373 3 z > 2
/, i I o u -3 2
Ri1.0) -2 A Y7 gxt3
P -1 x - | \L
a0 § m= 1 Sz =52
i o, V“. ’ lcpes are " Dl
£ dicular to the line with th tion and I thr P5 Wi s et
t equation and line j passes throu, t uation o
Lmejlsperpen icular to the line with the given eq Jp gh rite an equatio

b. y=—%x+g, y=9,=mlxi)
G m-=

£ ;/Q] y-a= 64(,3:#’)

i

. 175 xS
% 7 &54:)_ +73
v =

,and m/9 =148°. Find the measure of each numbered angle

mLl = egb
ms10=__32°

il




_Use the figure to determine whether each statement is true or false.
/5"80) ZDCB and ZDCH are supplementary. Trwe

31) DH L EH
32) HE L AF

Given: al/lb, cl/ld
} Prove: Zl1=/3

/b/

Statements

1. a/lb

2. Z1 E@

3. ¢//ld

4.@43

‘ 5. L1=43

33) ZDCB and ZABC are complementary. _{- o8¢

@ ZQSR and ZUVX are supplementary. Complete the proof that R7 | TW.
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2. oM. Wt & Thm, @

3. %\Wﬂ b —
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5. fransihve pperhy
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,)),'b Statement

| Reason

2 mZQSR + mZUVX = 180°

3 fmzosn + mZRSV = 180°

5  mZUVX = mZRSV

| 1  ZQSR and ZUVX are supplementary

4 ' mZQSR + mLUVX = mLQSR + mLRSV
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- GIVEN: g | | h, £1 and £4 are supplementary /"
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